EQUIVALENZE

Le misure di superficie

8.000 hm? = dam?
3.8m?2= mm?
6,5m?2= dam?
99 m?= cm?
23.000 hm? = hm?
4 it dm?
50.000 hm? = dam?
0,081 dm?*= cm?
0,074 dm? = m?
1.5 m%s= hm?
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EQUIVALENZE
Le misure di superficie

51.000 hm? =

0,064 dm? =

dam?

m2

810 dam? =

km?

3,8 m?=

mm?

0,112 dm? =

0,14 dm? =

80.000 hm? =

54 m?=

dam?

3,18 m? =

cm?

0,2m?=

dm?
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EQUIVALENZE
Le misure di superficie

o0
20.000 hm? = dam? \/
0,123 dm? = m?
15,6 dam? = km?
0,8 m?= mm? @@
0,045 dm? = m? W
0,22 dm? = m*
98.000 hm? = dam?
0,4 m? = dam?
11,25 m? = cm? _______ % ______
0,47 m2 = dm?
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